
MATHS

BOOKS - ICSE

EXPONENTS (POWERS)

Exercise 2 A

1. Evaluate : 

View Text Solution

(3− 1 × 9− 1) ÷ 3− 2

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_UIzaf9El0aZu


2. Evaluate : 

View Text Solution

(3− 1 × 4− 1) ÷ 6− 1

3. Evaluate : 

View Text Solution

(2− 1 + 3− 1)
3

https://dl.doubtnut.com/l/_UIzaf9El0aZu
https://dl.doubtnut.com/l/_SOCGiRUCzpLK
https://dl.doubtnut.com/l/_MCxBygfMOOv6


4. Evaluate : 

View Text Solution

(3− 1 ÷ 4− 1)
2

5. Evaluate : 

View Text Solution

(22 + 32) × ( )
2

1
2

https://dl.doubtnut.com/l/_wt0e8vS5P7Jl
https://dl.doubtnut.com/l/_8mxCWHemcdtk


6. Evaluate : 

View Text Solution

(52 − 32) × ( )
− 3

2

3

7. Evaluate : 

View Text Solution

[( )
− 3

− ( )
− 3

] ÷ ( )
− 3

1

4

1

3

1

6

https://dl.doubtnut.com/l/_meHJlJRnLsMi
https://dl.doubtnut.com/l/_1Sh7ESb0RDqF


8. Evaluate : 

View Text Solution

[( − )
− 2

]

2
3

4

9. Evaluate : 

View Text Solution

{( )
− 2

}

− 2
3

5

https://dl.doubtnut.com/l/_stK83Z6mIGKC
https://dl.doubtnut.com/l/_UnhvWFQKMy4g


10. Evaluate : 

View Text Solution

(5− 1 × 3− 1) ÷ 6− 1

11. If 1125 =  find m and n.

View Text Solution

3m × 5n . ,

12. Find "if" 

View Text Solution

× , 9 × 3× = (27)2 × − 3

https://dl.doubtnut.com/l/_DXVEFvJ1NjEK
https://dl.doubtnut.com/l/_0viGY5EkJQ13
https://dl.doubtnut.com/l/_rw8pxqiDwiwN


Exercise 2 B

1. Compute : 

View Text Solution

18 × 30 × 53 × 22

2. Compute : 

View Text Solution

(47)
2

× (4− 3)
4

https://dl.doubtnut.com/l/_rw8pxqiDwiwN
https://dl.doubtnut.com/l/_PEcmV5NKe0bX
https://dl.doubtnut.com/l/_1DlU1FvoNxss


3. Compute : 

View Text Solution

(2− 9 ÷ 2− 11)
3

4. Compute : 

View Text Solution

( )
− 4

× ( )
− 2

2

3

27

8

https://dl.doubtnut.com/l/_1DlU1FvoNxss
https://dl.doubtnut.com/l/_vjahcIxNWRTx
https://dl.doubtnut.com/l/_0Nqt7mCt05zL


5. Compute : 

View Text Solution

( )
0

÷ ( )
3

×
56

28

2

5

16

25

6. Compute : 

View Text Solution

(12)
− 2

× 33

https://dl.doubtnut.com/l/_ZhFQEd5mlVqf
https://dl.doubtnut.com/l/_c8ofkTAmzHsg


7. Compute : 

View Text Solution

( − 5)4 × ( − 5)6 ÷ ( − 5)9

8. Compute : 

View Text Solution

( − )
4

÷ ( − )
8

× ( − )
51

3

1

3

1

3

https://dl.doubtnut.com/l/_NGRdtZXkBjtY
https://dl.doubtnut.com/l/_r4n0T81UvHOe


9. Compute : 

View Text Solution

90 × 4− 1 ÷ 2− 4

10. Compute : 

View Text Solution

(625) − 3
4

https://dl.doubtnut.com/l/_MBdBeRKAfefq
https://dl.doubtnut.com/l/_18usK8PZUMPE


11. Compute : 

View Text Solution

( )
−

27

64

2
3

12. Compute : 

View Text Solution

( )
−1

32

2
5

https://dl.doubtnut.com/l/_yf3pityGZhyK
https://dl.doubtnut.com/l/_sPId8mTSDiQc


13. Compute : 

View Text Solution

(125) − ÷ (8)
2
3

2
3

14. Compute : 

View Text Solution

(243) ÷ (32) −2
5

2
5

https://dl.doubtnut.com/l/_Y3L5sqDCte6A
https://dl.doubtnut.com/l/_ng3uOdMUioWp


15. Compute : 

View Text Solution

( − 3)4 − ( 4√3)
0

× ( − 2)5 ÷ (64)
2
3

16. Compute : 

View Text Solution

(27) ÷ ( )
−

2
3

81

16

1
4

https://dl.doubtnut.com/l/_7mVrbp8BfJK2
https://dl.doubtnut.com/l/_eXHMMLxaedSl


17. Simplify :

View Text Solution

8 + 25 − ( )
−

4
3

3
2

1

27

2
3

18. Simplify :

View Text Solution

[(64) − 2]
− 3

÷ [{( − 8)2}
3
]

2

https://dl.doubtnut.com/l/_QRVtzAxl9yXD
https://dl.doubtnut.com/l/_WbhFnLESV5xr


19. Simplify :

View Text Solution

(2− 3 − 2− 4)(2− 3 + 2− 4)

20. Evaluate : 

View Text Solution

( − 5)0

https://dl.doubtnut.com/l/_hbjGp1gh7PYO
https://dl.doubtnut.com/l/_yNF4VLs2f0ja


21. Evaluate : 

View Text Solution

80 + 40 + 20

22. Evaluate : 

View Text Solution

(8 + 4 + 2)0

https://dl.doubtnut.com/l/_gtvgmemNfjPA
https://dl.doubtnut.com/l/_doqKBSxNSoP7


23. Evaluate : 

View Text Solution

4X0

24. Evaluate : 

View Text Solution

(4X)0

https://dl.doubtnut.com/l/_YMlIDlDNtqgq
https://dl.doubtnut.com/l/_4m6xnGFJxfa2


25. Evaluate : 

View Text Solution

[(103)
0
]

5

26. Evaluate : 

View Text Solution

(7X0)
2

https://dl.doubtnut.com/l/_T5PGapKo1O1U
https://dl.doubtnut.com/l/_cHLsc3v9BAmx


27. Evaluate : 

View Text Solution

90 + 9− 1 − 9− 2 + 9 − 9−1
2

1
2

28. Simplify : 

View Text Solution

a5b2

a2b− 3

https://dl.doubtnut.com/l/_zFNFhhT8OEzZ
https://dl.doubtnut.com/l/_59VejKIrtx7p


29. Simplify : 

View Text Solution

15y8 ÷ 3y3

30. Simplify : 

View Text Solution

X10y6 ÷ X3y − 2

https://dl.doubtnut.com/l/_GpsGbOPVq4Pe
https://dl.doubtnut.com/l/_J6qFpG5G0v9m


31. Simplify : 

View Text Solution

5z16 ÷ 15z − 11

32. Simplify : 

View Text Solution

(36x2)
1
2

https://dl.doubtnut.com/l/_MgVTatpzf4eq
https://dl.doubtnut.com/l/_Hpn0sdYknHRG


33. Simplify : 

View Text Solution

(125x − 3)
1
3

34. Simplify : 

View Text Solution

(2x2y − 3)
− 2

https://dl.doubtnut.com/l/_PgJxZF9TLauv
https://dl.doubtnut.com/l/_sEMLcYzARnnP


35. Simplify : 

View Text Solution

(27x − 3y6)
2
3

36. Simplify : 

View Text Solution

( − 2X2 / 3y − 3 / 2)
6

https://dl.doubtnut.com/l/_WoQ8airjROd3
https://dl.doubtnut.com/l/_e2qhOIPi0R7y


37. Simplify : 

. .

View Text Solution

(Xa + b)
a − b

(Xb + c)
b − c

(Xc + a)
c − a

38. Simplify : 

View Text Solution

5√x20y − 10z5 ÷
x3

y3

https://dl.doubtnut.com/l/_s8JAJQhXPqI4
https://dl.doubtnut.com/l/_RSa1fRAOmL9J


39. Simplify : 

View Text Solution

( )
−

256a16

81b4

3
4

40. Simplify and express as Positive indices : 

View Text Solution

(a − 2b)
− 2

. (ab)
− 3

https://dl.doubtnut.com/l/_bwtFPdX78Kij
https://dl.doubtnut.com/l/_P12MXjVJ4fYS


41. Simplify and express as Positive indices : 

View Text Solution

(xny − m)
4

× (x3y − 2)
− n

42. Simplify and express as Positive indices : 

View Text Solution

( )
125a − 3

y6

− 1

3

https://dl.doubtnut.com/l/_vjKK1i8U1Gyi
https://dl.doubtnut.com/l/_dCb0mfRGhRUX


43. Simplify and express as Positive indices : 

View Text Solution

( )
32x − 5

243y − 5

− 1

5

44. Simplify and express as Positive indices : 

View Text Solution

(a − 2b) × (ab− 3)
1
2

1
3

https://dl.doubtnut.com/l/_ugVZHJLoOKcx
https://dl.doubtnut.com/l/_Eehc9IXKyLeb


45. Simplify and express as Positive indices : 

View Text Solution

(xy)m− n. (yz)n − l. (zx)l − m

46. Evaluate : 

View Text Solution

X5 + n × (X2)
3n + 1

X7n − 2

https://dl.doubtnut.com/l/_sMCeYHZeda8n
https://dl.doubtnut.com/l/_7U9rN70M20FB


47. Evaluate : 

View Text Solution

a2n + 1 × a ( 2n + 1 ) ( 2n − 1 )

an ( 4n − 1 ) × (a2)
2n + 3

48. Find the value of n, when : 

View Text Solution

12− 5 × 122n + 1 = 1213 ÷ 127

https://dl.doubtnut.com/l/_bQ9jh7WdFNQW
https://dl.doubtnut.com/l/_qEaNfO5ihBq4


49. Find the value of n, when : 

View Text Solution

= (a3)
3

÷ (a6)
− 3a2n − 3 × (a2)

n + 1

(a4) − 3

50. Simplify : 

View Text Solution

a2n + 3. a ( 2n + 1 ) ( n + 2 )

(a3)2n + 1. an ( 2n + 1 )

https://dl.doubtnut.com/l/_G4ahIhPahuRN
https://dl.doubtnut.com/l/_aY3AgiokJbaK

